d? o/ dy /dM (pb/GeV)

Ratio to PHENIX

=
o
>

=
o
w

=
o
N

=
(@)

1072
1073

107

0.5

200 GeV pp Z (Drell-Yan)
_ T I T I I I T | T I I T I T I '_E
S m' (PHENIX Drell-Yan) E
%_. “n —%
— H B -
- . e
= =
? m  PHENIX _§
__ OK lier\%lg"'i 27 1 d&%ﬂtl POUTE BRI S K. G % _—
B i s Her\eggﬂ-@Po%/ 270 d a@ﬁé @8- é & é B =
- 9’;%‘ - Herwig++ Powheg 2.7 7 LHC-UE-EE-4 =
=L--3" Herwig 7.2.1 default —
§_| | : | | | | | | | =
— l I T =

10

M (GeV)

Rivet 3.1.10, = 2.8M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


